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QUESTION 1

How does Agile bring predictability to the Planning process?

A. By allowing the customers to review the progress often.

B. By assigning most of the responsibility to the Product Owner.
C. By making the team self-organized and self-planning.

D. By providing early visibility into the team\\'s progress.

Correct Answer: D

QUESTION 2

All Scrum events are time-boxed events. What is the advantage of time-boxing?
A. It ensures commitment of the Team.

B. It facilitates osmotic communication.

C. It maximizes productivity.

Correct Answer: C

QUESTION 3

A large product team features six different teams having ten members each, working on a project that involves four high
level features.

How many Product Backlogs should the team have?
Al
B. 4
C.6

Correct Answer: A

QUESTION 4
What is the relationship between the Product Backlog, the Release Backlog and the Sprint Backlog?
A. The Product Backlog is a subset of the Sprint Backlog, which is a subset of the Release Backlog.

B. The Release Backlog is a subset of the Product Backlog, which is a subset of the Sprint Backlog
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C. The Sprint Backlog is a subset of the Product Backlog, which is a subset of the Release Backlog.

Correct Answer: C

QUESTION 5

Higher management wants to know who will be the Project Manager of the Scrum project. Which role is the same as the
Project Manager role?

A. The Product Owner

B. The Scrum Master

C. The Development Team

D. There is no such role in Scrum

Correct Answer: D

Latest ASF Dumps ASF VCE Dumps ASF Exam Questions

Latest ASF Dumps | ASF VCE Dumps | ASF Exam Questions 3/3


https://www.geekcert.com/asf.html
https://www.geekcert.com/asf.html
https://www.geekcert.com/asf.html
http://www.tcpdf.org
https://www.geekcert.com/asf.html
https://www.geekcert.com/asf.html
https://www.geekcert.com/asf.html

